	  ВОЗ                                                                                                 К-1
Тема: «Решение уравнений»

Решить уравнения:
1. а ∙ 92 = 736
2. в ∙ 39 = 273



     


	  ВОЗ                                                                      Карточка-ключ 1
Тема: «Решение уравнений»

[bookmark: _GoBack] 1. а ∙ 92 = 736                          2.   в ∙ 39 = 273   
     а = 736 : 92                                в = 273 : 39
     а = 8                                            в = 7
     8 ∙ 92 = 736                               7 ∙ 39 = 273




	  ВОЗ                                                                                               К-2
Тема: «Решение уравнений»

Решить уравнения:
1. 74 ∙ х = 370
2. 45 ∙ х = 270




	  ВОЗ                                                                     Карточка-ключ 2
Тема: «Решение уравнений»

1. 74 ∙ х = 370                                 2.   45 ∙ х = 270
    х = 370 : 74                                       х = 270 : 45
    х = 5                                                   х = 6
    74 ∙ 5 = 370                                      45 ∙ 6 = 270




	  ВОЗ                                                                                               К-3
Тема: «Решение уравнений»

Решить уравнения:
1.    х : 49 = 7
2.      у : 58 = 3



	ВОЗ                                                                        Карточка-ключ 3
Тема: «Решение уравнений»

1. х : 49 = 7                                       2.   у : 58 = 3
    х = 49 ∙ 7                                             у = 58 ∙ 3
    х = 343                                                у = 174 
    343 : 49 = 7                                       174 : 58 = 3




	  ВОЗ                                                                                                К-4
Тема: «Решение уравнений»

Решить уравнения:
1. 245 + x = 360
2. 265 + x = 980




	  ВОЗ                                                                     Карточка-ключ 4
Тема: «Решение уравнений»

1. 245 + x = 360                            2.  265 + x  = 980
    x = 360 – 245                                 x = 980 – 265
    x = 115                                            x = 715
    245 + 115 = 360                            265 + 715 = 980




	  ВОЗ                                                                                                 К-5
Тема: «Решение уравнений»

Решить уравнения:
1. а + 635 = 967
2. y + 276 = 816




	  ВОЗ                                                                     Карточка-ключ 5
Тема: «Решение уравнений»

1. а + 635 = 967                                2.  у + 276 = 816
    а = 967 – 635                                     у = 816 – 276  
    а = 332                                                у = 540
    332 + 635 = 967                               540 + 276 = 816




	  ВОЗ                                                                                                К-6
Тема: «Решение уравнений»

Решить уравнения:
1.     272 : а = 8
2.     320 : в = 64




	  ВОЗ                                                                     Карточка-ключ 6
Тема: «Решение уравнений»

1. 272 : а = 8                                2. 320 : в = 64
    а = 272 : 8                                     в = 320 : 64
    а = 34                                             в = 5 
    272 : 34 = 8                                  320 : 5 = 64




	  ВОЗ                                                                                               К-7
Тема: «Решение уравнений»

Решить уравнения:
1. 6 213 - x = 729
2. 9 651 - x = 4 351




	  ВОЗ                                                                   Карточка-ключ 7
Тема: «Решение уравнений»

1. 6 213 - x = 729                         2.  9 651 - x  = 4 351
    x = 6 213 - 729                               x = 9 651 - 4 351
    x = 5 484                                         x = 5 300
    6 213 – 5 484 = 729                     9651 – 5300 = 4351  




	  ВОЗ                                                                                               К-8
Тема: «Решение уравнений»

Решить уравнения:
1. а - 678 = 712
2. y - 329 = 567




	  ВОЗ                                                                   Карточка-ключ 8
Тема: «Решение уравнений»

1. а - 678 = 712                             2.  у - 329 = 567
    а = 678 + 712                                 у = 329 +567  
    а = 1390                                          у = 896
    1390 - 678 = 712                           896 - 329 = 567 
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